HAESEBMRE=FI I RR-E(ZRUUN)

[=FRPH])

BiERE
No. HEB s Ay BE HEAHR BEAA (L)
Ba/kg
1 Bk fmE™ B533 H31.1.13 H31.2.21 97
2 B mE™ B533 R5.1.17 R5.2.20 67
3 Bk fBE™M B521 R5.10.8 R5.12.5 200
4 Bt fBE™ B524 R6.9.23 R6.11.14 340
5 =94 fmE™ B522 R6.12.8 R7.1.28 270
6 B B B114 H23.12.18 H23.12.25 138
7 B Lt B111 H23.12.20 H24.1.13 234
8 R BT B221 H24.2.11 H24.2.24 155
9 B AT B021 H29.6.5 H29.7.28 340
10 B BT B023 H29.7.3 H29.9.6 180
11 B BT B012 H29.8.1 H29.9.26 140
12 B B B012 H29.9.4 H29.10.27 210
13 B BT B012 H30.4.2 H30.6.27 160
14 B B B111 H30.6.5 H30.8.2 25
15 B it B021 H30.6.8 H30.8.2 90
16 B BT B012 H30.6.8 H30.8.2 150
17 B B B012 R5.6.9 R5.8.3 110
18 Bh BB E711 H26.1.15 H26.2.17 52
19 B AENTH E711 H26.1.19 H26.2.17 92
20 R h AEIT E732 R5.9.13 R5.10.30 18
21 B BB E732 R5.11.15 R5.12.27 29
22 B KEH E711 H27.2.8 H27.3.13 85
23 2¥c3) =Pl E613 H23.11.27 H23.12.9 437
24 B iz E601 H23.11.30 H23.12.9 209
25 2¥c3) Fa AT E611 H23.12.26 H24.1.13 573 X
26 =i RIEEW™ A073 H28.6.17 H28.7.12 21
27 =g SEENT A272 H28.10.24 H28.12.21 34
28 =iE =EENT A271 H30.2.5 H30.3.22 17
29 =i KEENT D773 H30.7.12 H30.9.6 13
30 =g SEENT A073 R2.6.23 R2.7.14 19
31 E 3= SEENT A272 R3.6.30 R3.8.2 12
32 =i KEENT A272 R3.11.3 R3.12.14 79
33 =g E=p=#=1 VNI A274 R4.6.4 R4.7.19 20
34 EP= SEENT A272 R4.9.4 R4.10.20 21




HAESEBMRE=FI I RR-E(ZRUUN)
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35 =i SEENT A272 R5.9.25 R5.10.30 5.3
36 =iE =EENT A171 R6.6.5 R6.7.23 24
37 =i E%A™ A472 R3.8.22 R3.9.14 21
38 =g E%A™ A464 R3.10.9 R3.11.11 66
39 =i# E&AT A473 R3.12.10 R4.1.20 14
40 o3 =25 A472 R5.11.26 R5.12.27  [Baier. ousros
41 2iE E%A™ A464 R7.1.25 R7.2.26 23
42 =iE EZAm A464 R7.1.26 R7.2.26 8
43 =g (3= 1) A244 H25.1.23 H25.2.1 19
44 -y s 3= 2:i0) A454 H25.2.9 H25.6.12  [fRilies <67(1s400)
45 &g FEE== 2] A454 H26.1.7 H26.2.17  [[Rfies <so(isice
46 =i =EET A253 R5.5.8 R5.6.29 26
47 R SEAET A344 R5.10.12 R5.125  [[B&E  esnsice
48 RiFE [iEE 3= 3:i1) A344 R6.5.9 R6.6.25  [Ra=7  sonsrce
49 2iF LifE=3= 4] A344 R6.5.17 R6.6.25  |[AH2Y  ensioe
50 &g [iEeg= 1) A344 R6.6.5 R6.7.23  [55isce cesciaros
51 &% [Py :) A344 R6.6.6 R6.7.23  [55isce csaciarcs
52 =iE P2 A244 R6.6.6 R6.7.23 30
53 2 FEREET A244 R6.6.10 R6.7.23  [BEE7  eansrce
54 =g [EEJ= 1) A351 R6.6.22 R6.7.23 6.9
55 =g a2 HT A253 R6.6.25 R6.7.23 9
56 =g P EET A352 R6.7.3 R6.8.29 10
57 2iF LifE=3= ) A344 R6.7.16 R6.8.29  |[FHEY  sousice
58 =iF FAiEET A244 R6.8.10 R6.10.8 6.2
59 =iF P 2T A244 R6.9.2 R6.11.14 6.4
60 =i FaEET A244 R6.10.4 R6.12.10 19
61 R FEREET A253 R6.11.8 R6.12.17 P27  esaarce
62 =g a2 HT A254 R7.1.17 R7.2.26 6.8
63 &% FifE=y=:) A254 R7.1.17 R7.226  |[55tace csrcismoe
64 2 FifE=3= 4] A253 R7.1.26 R7.226  |[PHY  eusios
65 _iF FER AT A253 R7.8.13 R7.10.3  |[AHEY  eousioe
66 =g YEKHT B314 H24.2.13 H24.2.24 118
67 =iE EERET B113 H27.8.30 H28.3.22 19
68 =i T HT B113 H27.10.27 H28.2.10 32
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69 =i EERE B312 H28.10.7 H28.12.21 190
70 =iE Yam KHT B113 H29.9.2 H29.10.27 31
71 =iF EERET B113 H29.9.14 H29,10,27 240
72 =g Y KHT B114 H29.10.23 H29.11.16 71
73 =iE Yam (KHT B213 H30.7.8 H30.9.6 920
74 =i Wi ET A152 H31.2.24 H31.3.25 9
75 £iF Hi;EET A152 H31.2.24 H31.325 [[REgzecasecs
76 o= £ LET A141 H31.2.2 H31.3.25  [fmgresce
77 =g = EHT A151 R6.6.28 R6.8.29 43
78 SiF = BH A144 R6.11.23 R6.12.17 17
79 =iF = 5HT A151 R7.2.12 R7.3.31 12
80 =g = BHT A151 R7.2.12 R7.3.31 7.9
81 =iE = EHT A151 R7.2.12 R7.3.31 5.9
82 =i = BHT A151 R7.2.12 R7.3.31 10
83 =g = 5HT A151 R7.2.12 R7.3.31 6.5
g4 | o= =B A151 R7.2.12 R7.331 i eiasmos
85 =i = 5HT A151 R7.2.12 R7.3.31 6.3
86 =g = BHE A151 R7.2.12 R7.3.31 12
87 =iE = BHET A151 R7.2.12 R7.3.31 9
88 =g = BHT A151 R7.2.12 R7.3.31 8.6
89 =iE = EHT A151 R7.2.12 R7.3.31 9.3
90 =iE = BHT A053 R7.3.1 R7.5.14 8.1
91 S = BH A151 R7.3.8 R7.5.14  [BEEY  eonsice
92 &% ==1:) A151 R7.3.8 R7514 |83 cesciaros
93 =i = 5HT A153 R7.6.16 R7.7.22 45
94 =g = 5HT A153 R7.7.6 R7.8.27 26
95 =iF = EHT A151 R7.7.29 R7.8.27 16
96 E = = BHT A151 R7.8.15 R7.10.3 16
97 =iE RIEXEBEET A061 H27.1.16 H27.2.20 14
98 3= T 4ERET D771 R3.10.3 R4.1.20  |fer o inmcs
99 e T 4ERET D773 R5.7.2 R5.8.31 7.8
100 3= RRHT D734 R4.9.2 R4.10.20 13
101 [BIE3= F = EET D432 H23.11.23 H23.12.9 24.4
102| mMREZE A EHET D563 H24.1.17 H24.1.27  [BHgis2ies
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103| mMRE FA =2 HT D652 H28.2.14 H28.3.25 6.6
104| @R AR D652 H28.2.14 H28.3.25  [[R%%7  osqsrce
105 mMR#E EEE L) D343 H28.5.22 H28.7.12 60
106 =i EEE= L) D343 H28.5.29 H28.7.12 22
107 =iE FA =2 HT D443 H28.6.9 H28.7.12 63
108 =i FA =R HT D641 H28.6.16 H28.7.12 35
109 =g FA =2 HT D641 H28.6.20 H28.7.12 12
110 =2 FA =2 HT D343 H28.6.19 H28.7.12 33
111 =i FA = EET D532 H28.6.24 H28.7.12 16
12| @R AR D434 H28.7.11 H28.95  |[A%eY @ srce
13| mERE R L) D441 H28.7.10 H28.9.5 72
114 =i =EET D441 H28.9.22 H28.10.21 37
115 =iE P =2 HT D432 H28.10.19 H28.12.21 65
116 =iF FA =2 HT D432 H29.1.22 H29.2.10 35
117 =i EEEE L) D554 H29.1.22 H29.2.10 11
118 =iE FA =2 HT D443 H29.6.18 H29.7.28 34
119 2 [EE-3= 2] D543 H30.1.7 H30.2.13  [fRilies ses(isice
120 SiE AT D652 H30.1.7 H30.2.13  [[Rifies sestisice
121 =i FA = EHET D554 H30.1.8 H30.2.13 14
122 =i R = iR T D563 H30.6.11 H30.8.2  [fhises
123 £iF AT D563 H30.6.6 H30.8.2 [ty 70040
124 =i R i) D563 H30.6.13 H30.8.2 7.1
125 =i =EET D643 H30.7.1 H30.9.6 9.2
126 =2 FA =2 HT D662 H31.1.27 H31.3.25 7.0
127 =iF FA =2 HT D554 H31.4.27 R1.6.13 38
128 R AR AT D563 R1.5.2 R1.6.13 [ty set1(13i09
129 =iZ EE=3=) D563 R1.5.8 R1.6.13  [B50s 2"
130 =i FA = EET D563 R1.5.13 R1.6.13 6.2
131 E-9= AT D554 R1.5.14 R1.6.13  [[RHiEY ssatisice
132 =i FA = EHET D563 R1.5.15 R1.6.13 13
133 =i FA = EET D554 R1.5.18 R1.6.13 10
134 SiF EE-3= 1) D563 R1.5.18 R1.6.13  [fRHey sestisice
135 =iF FA =2 HT D563 R1.5.20 R1.6.13 9.6




HAESEBMRE=FI I RR-E(ZRUUN)

[=HR2PHh)

MERE
No. ok A Ay BE WHEAB BEARH (L)

Ba/kg

136 | FERZE SIEHET D554 R1.5.28 R1.6.13 22
137 =2 FA =2 HT D443 R1.5.29 R1.7.19 350
138 =i EEEE L) D563 R1.6.4 R1.7.19 7
139 R AR EHET D563 R1.6.8 R1.7.19 P A
140 S =33 D563 R1.6.8 R1.7.19 (esusce et
141 =2 FA =2 HT D563 R1.6.13 R1.7.19 14
142 | mERE FIS AT D563 R1.6.14 R1.7.19 (o6as0es e
143 | mRE FIS AT D563 R1.6.18 R1.7.19 P A
144 | mRE EEE3E L) D563 R1.6.20 R1.7.19 15
145 | FERE F 2 AT D554 R1.6.23 R1.9.2 R,
146 | mERE I EET D554 R1.6.26 R1.9.2 s
147 mER#E FA = EET D563 R1.6.26 R1.9.2 P AP
148 | mEEE FA =R HT D563 R1.6.26 R1.9.2 9
149 | ®E=# AR EET D563 R1.6.27 R1.9.2 etscee et
150 | mR#E I EET D563 R1.6.27 R1.9.2 PN A
151 [P F = EET D661 R1.6.29 R1.9.2 7
152 | @ AR 2T D554 R1.7.2 R1.9.2 (134050 B aT0D)
153 | mMRE A EHET D563 R1.7.10 R1.9.2 8
154 | mER#E EEE L) D563 R1.7.26 R1.9.2 88
155 | FER#E FA = EET D563 R1.7.26 R1.9.2 5
156 | mEEE Ry 2] D554 R1.7.28 R1.9.2 (550134050 13700
157 | ®E=# AR AT D563 R1.8.3 R1.10.1 ousceae?
158 | mERE FIS AT D563 R1.8.5 R1.10.1 (satsceae?
159 | FER#E FA = EET D554 R1.8.12 R1.10.1 16
160 | mERE FA =R HT D563 R1.8.17 R1.10.1 5
161 ARE AR EHET D563 R1.8.18 R1.10.1 oatsceee?
162 | mRE FAS AT D563 R3.5.9 R3.8.2 rtsceee
163 | MER#E FA = EET D661 R3.11.27 R3.12.14 9.5
164 mMRE R REET D661 R3.12.7 R4.1.20 PO A
165 mMRE FA =2 HT D542 R4.1.2 R4.2.16 7
166 | M= AR D554 R3.12.29 R4.2.16 (ostscees
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167 mRE GZE-3:3:0] D662 R4.2.19 R4.4.13 JRN AN,
168 | FRZE ZE-3= 1) D661 R4.2.25 R4.4.13 OO S A
169 | mRE FS AT D661 R4.2.25 R4.4.13 o 70e
170 msE R AT D562 R4.2.27 R4.4.13 (6516 a137C)
171 FfE =33 D562 R4.2.27 R4.4.13 BT,
172 | mRE FIS AT D562 R4.2.27 R4.4.13 B 700
173 | ez RIS 2T D661 R4.3.1 R4.4.13 (20013406 013709
174 | mez EEy=:) D741 R4.3.1 R4.4.13 (6013405213760
175 | mfiE IS AT D741 R4.3.1 R4.4.13 BN A
176 | mERE B3 3] D652 R4.3.2 R4.4.13 e 70e
177 e AR 2T D652 R4.3.3 R4.4.13 (60013404 513709
178 | mERZ FAS 2T D661 R4.3.4 R4.4.13 313768
179 | mEfE EE-3:20] D661 R4.3.4 R4.4.13 oo e
180 | mRE FASEET D652 R4.3.9 R4.4.13 s 700
181 FERZE =33 D652 R4.3.13 R4.4.13 A 3700
182 mRE FIS AT D641 R6.7.10 R6.8.29  |[BHEY  esisice
183 | mMR#E FA = EHET D551 R6.7.11 R6.8.29 12
184 [P FA =R HT D643 R6.8.7 R6.10.8 7.3
185 | mMRE 2T D642 R6.11.19 R6.12.17 27
186 | mE=# AR AT D662 R7.2.17 R7.3.31 ) (44013709)
187 mLz Ry 2] D662 R7.3.8 R7514  [[55isce ceaasros
188 | mMRE EEEE L) D643 R7.6.4 R7.7.22 12
189 [EIf-g eRR Ikt D322 H24.10.30 H24.10.20 190
190 B3 FERR I+ D333 H28.10.20 H28.12.21 28
191 3= A%k A D333 H28.10.28 H29.1.10 24
192 mER#E AR D333 H29.6.12 H29.7.28 28
193 [EIf-g eRR Ikt D333 H29.10.18 H29.11.16 24
194 [ R I+ D333 H30.6.11 H30.8.2 23
195| mR#E A%k A D333 H30.9.26 H30.11.26 19
196 | FERE AR D333 R1.9.25 R1.10.23 6
197 mER#E etk D333 R4.11.1 R4.12.21 e 3700
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ko Th GRAERBLEIIZHELTWV=tD)

ZIERE

No. HER FEHh S Iy aB/E fH#EARH B®REAH (o9 L)
Ba/kg

1 [ b s D322 H23.10.2 H23.10.20 464 *

miEEE L s csmaEt,
&, H24.3.31 LLRITEFHE TCs24% 5 5 51 H'500Bq/kgZBA TLVHE M,

* (X, H24.4 1 LIFE A CTCs 2% E A 51 H100Ba/kegZ B A TLV\DEHD . R UH24.3.31 LLRTFAE TCs2#% 8 & 51 HV100Ba/ kg%
HBzTW510,

BEORERMEBIXTEHR23FE10B3BTHSH ., TETFR KYZNLURTNIHHEL-RIKIZDOLNTE
BREKELIDHY. REOXFRELT,



